2-phase Stepping Motor

103H712]
56mm S(. 18/step

@For infarmation on the applicable driver,
contact our sales department.

Unipolar winding

Model 2ohase anergnaton csmlesie| inductance | OO ineria Weih
| Oneshaft |Twiiis| N.mormore  [|uhasefipa| mHiphase | x10'kgm? | kg |
103H7121-0140 | 0110 0.39 1|48 8 0.1 0.47
103H7121-0440 | 0410 0.39 2 125 1.2 0.1 0.47
103H7121-0740 | -0710 0.39 3 |08 0.8 0.1 0.47
103H7123-0140 | -0110 0.83 1|87 15 021 065
103H7123-0440 | -0410 0.83 2 |18 38 021 0.65
103H7123-0740 | -0710 0.78 3 (077 1.58 0.21 0.65
103H7124-0140 | -0110 0.98 1|7 12.5 0.245 0B
103H7124-0440 | -0410 0.98 2 |17 3 0.245 0.8
103H7124-0720 | -0710 0.98 3 |074 1.4 0.245 08
103H7126-0140 | -0110 127 1 |88 19 038 0,98
103H7126-0440 | -0410 1.27 2 |z 45 0.36 0,98
103H7126-0740 | 0710 1.27 3 |08 2.2 0.36 0.98

Bipolar winding
oo |, Mottt ) e | oo i
| Oreshaft |Twiuis| N.mormore  |Mheseiptase] mHjphase | x10*kgm? | kg |
103H7121-5040 | 5010 0.39 2 |085 1.8 0.1 0.47
103H7123-5040 | -5010 0.83 2 |08 3.8 021 0.65
103H7126-5040 | 5010 1.27 2 [1.08 45 036 0.98
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Dimensions (unit: mm)

103H7121-0140/0440/0740/5040 (Single shaft}
103H7121-0110/0410/0710/5010 (Double shaft)

Lead wire UL1430 AWG2Z
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103H7124-0140/0440/0740 (Single shaft)
103H7124-0110/0410/0710 {Double shaft)
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103H7123-0140/0440/0740/5040 (Single shaft)
103H7123-0110/0410/0710/5010 (Double shaft)
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103H7126-0140/0440/0740/5040 (Single shaft)
103H7126-0110/0410/0710/5010 (Double shaft)

Lead wire UL1430 AWGIZ
15.5+1 T5. BB
g—- 20.6:05
E 5
5 15
H
|8
== Is
o :
o2 i “]?z
b £
& s
i
e
2

OF
@

Borless

74




75

®103H7121-0140
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Banyo constant current circuit
Source voltage: DC24V Wiring current: 1A/phase, 2-phase energization (full-step)
Jui=0.94x10"kg-m? {Uses rubber coupling)
Juz=0.8x10"kg-m? (Uses direct coupling)
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Sanyo constant current circuit

Source voltage: DC24V Wiring current: 28/phase, 2-phase energization (full-step)
JL1=0.94x10"kg-m? {Uses rubber coupling)

JL2=0.8x%10"*kg-m? (Uses direct coupling)
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Sanyo constant current circuit
Source voltage: DC24Y Wiring current: 3A/phase, 2-phase energization (full-step)
Ju=0.94x10"kg-m? {Uses rubber coupling)
Juz=0.8x10%kg-m? (Uses direct coupling)
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Sanyo constant current circuit
Souree valtage: DC24V Wiring current: 1Ajphase, 2-phase energization {full-step)
Jui=0,94x10""%kg-m? {Uses rubber coupling)
JLz=0.8x10*kg-m? (Uses direct coupling)
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Sanyo constant current circuit
Source voltage: DC24Y Wiring current: 2A/phase, 2-phase energization {full-step)
Jui=0.94x10"*%g-m? {Uses rubber coupling)
Ju2=0.8%10*kg-m? (Uses direct coupling}
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Sanyo constant current circuit
Source voltage: DC24V Wiring current: 3A/phase, 2-phase energization {full-step)
Ju=0.94x10"*%g-m* {Uses rubber coupling)
Juz=0.8%10*kg-m? (Uses direct coupling)



Torque Characteristics
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Sanyo constant current circuit

Source voltage: DC2AV Wiring current: 1A/phase, 2-phase energization (full-step)
JLi=2.6x10*kg-m? (Uses rubber coupling}

Juz=2.6x10*kg-m? (Uses direct coupling)
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Sanyo constant current circuit
Source voltage: DC24V Wiring current: 28/phase, 2-phase energization (full-step)
JLi=2.6x10"*kg-m? (Uses rubber coupling}
Jua=2.6%10*kg-m? (Uses direct coupling)
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Sanyo constant current circuit

Source voltage: DC24V Wiring current: 3A/phase, 2-phase energization (full-step)
Ju=2.6x10*kg-m? (Uses rubber coupling}

Juz=2.6x10*kg-m? (Uses direct coupling)
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Sanyo constant current circuit
Source voltage: DC24V Wiring current: 1A/phass, 2-phase energization (full-step)
Jui=2.6x10%g-m* (Uses rubber coupling)
Ju2=2.6x10*%g-m? (Uses direct coupling)
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Sanyo constant current circuit
Source voltage: DC24V Wiring current: 24/phase, 2-phase energization (full-step)
Jui=2.6x10"*kg-m? (Uses rubber coupling)
Ju2=2.6x%10*kg-m? (Uses direct coupling)
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Sanyo constant current circuit
Source voltage: DC24V Wiring current: 3A/phase, 2-phase energization (full-step)
Ju=2.6x10%g-m* (Uses rubber coupling)
Juz=2.6x10*g-m* (Uses direct coupling)
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Pulse Rate - Torque Characteristics
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Banyo constant current circuit
Source voltage: DC24V Wiring current: 28/phase, 2-phase energization (full-step)
Ju1=0.94x10"kg-m? {Uses rubber coupling)
Ji2=0.1%10*kg-m? (pulley balancer method)
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Sanyo constant current circuit

Source voltage: DC24V Wiring current: 24/phase, 2-phase energization (full-step)
JL1=0.94x10"kg-m? {Uses rubber coupling)
Ju2=0.21%10*kg-m? {pulley balancer method)
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Sanyo constant current circuit
Source voltage: DC24V Wiring current: 2A/phase, 2-phase enargization (full-step)
Ju=2.6x10%g-m? (Uses rubber coupling)
Jiz=0.33%10"*kg-m? {pulley balancer method)
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